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MODEL QUESTION PAPER — Thrissur Cluster - February 2023

PART IlI
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING
Maximum: 60 Scores
Time :2 ¥%2 Hours
Cool of Time time: 15 Minutes

General Instructions to Candidates:

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART A
I  Answer all questions from 1 to 5 each carries 1 score (5x1=5)
1.Under fixed capital method, the interest on drawing is

a) Credited to capital account b) Debited to Capital Account
c) Credited to Current Account d) Debited to current Account

2. On admission of a partner, the debit balance of profit and loss A/C shown in the Balance
Sheet of the firm denotes

a) Accumulated Profit b)Accumulated Loss

¢) Revaluation Loss d) General Reserve

3.The ratio in which the continuing partners share the profit of out going partner is called

a) Old Ratio b) Gaining Ratio
¢) Sacrificing Ratio d) New Ratio

4. The business of the firm is terminated when takes place
a) Dissolution of partnership  b) Retirement of a partner
c) Death of a partner d) Dissolution of firm

5.In case of death of a partner, the profit of the firm up to his date of death may be estmated
on the basis of

a) Average of sale of last few years b) Average drawings of the partners

c) Average capital of all the partners d) Average profit of the last few years
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I1. Answer any three questions from 6 to 10. Each carries 2 scores

6. Raju and Syam are partners sharing profits in the ratio of 5:3. They admit Jagan for /;
" share in the profits. Calculate sacrificing ratio.

7. Why are the assets and liabilities revalued on the admission of a partner? Write any two
reasons.

8. Briefly explain the “treatment of losses” in the settlement of accounts on dissolution of a
firm?

9. Jose and Joy are partners in a firm. Due to heavy loss in business Joy demands to dissolve
the firm. Mention any four ways of dissolution of a firm.

10. State any two difference between dissolution of partnership and dissolution of firm.
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I11. Answer any two questions from 11 to 13. Each carries 3 scores.

11. Mr.Rajeev, a partner in a firm withdrew Rs.200 each every month from the firm.
Calculate the amount of interest on drawings @ 8% per annum, assuming that he withdraws
the amount at the beigining of each month.

12. Nadia, Sona and Jessy are partners in the ratio of 3:2:1. Nadia retires. Sona and Jessy
decided to continue the business in the ratio of 4:1. Calculate gaining ratio?

13.Anil, Akash and Ambareesh are partners in a firm sharing profits in the ratio 5:3:2.
Ambareesh retires from the firm and continuing partners decided to share future profits in the
ratio of 3:2. On his retirement firms goodwill was valued at Rs.50,000. Record necessary
journal entries.
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IV. Answer any three questions from 14 to 17. Each carries 5 scores.

14. Reena and Rajitha are partners in a firm sharing profits and losses in the ratio of 3:2 with
capitals of 50,000 and 40,000 respectively. The profit of the firm for the year ended march
31 2021 was Rs.1,00,000. Interest on capital is to be allowed at 5% per annum. Reena is to



be paid salary of Rs.2500 per month. Prepare profit and Loss appropriation account to show
the distribution of profits among the partners.

15. Write any five factors affecting the value of goodwill of a firm?

16.Rekha,Reshmi and Reny are partners in a firm. Reny retires from the firm and 36000 due
to her. Rekha and Reshmi promise to pay her amount due in four equal instalments at the end
of the every year with interest @10% per annum on out standing balance. Prepare Reny’s
loan A/c for four years.

17. A and B are partners in a firm. They decided to dissolve the firm on 31* December 2018.
Give journal entries for the following transactions on dissolution.

a) Realisation expense amount to Rs.1500

b) Furniture take over by ‘A’ for Rs.4000

c) ‘B’ is ready to discharge the creditors Rs.5000
d) Un recorded machinery sold out for Rs.6000

e) Realisation expense of Rs.1000 met by ‘A”’.
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V. Answer the following question carries 8 scores

18. Following Balance Sheet shows financial position of Joseph and Jayesh sharing profits
and losses in the ratio of 2:1.

Balance Sheet as on 31/03/2017

Liabilities Amount | Assets Amount
Creditors 9000 Cash 1900
General Reserve 3000 Debtors 11600
Capitals Stock 14000
Joseph 27000 Furniture 3500
Jayesh 16000 Building 24000
Total 55000 Total 55000

They agreed to admit John in to partnership and give him 1/4 share in the profits with the
following terms

a) John should bring in Rs.20000 as his capital and Rs.6000 as his share of goodwill
in cash

b) Furniture depreciated by 12% and stock depreciated by 10%

c) Buildings appreciated by Rs.10000

d) Create provision for doubtful debts at 5% of debtors

Prepare the Revaluation account, Partners Capital account and the new Balance
sheet.
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Balance Sheet as on 31/03/2017
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PART B
I.Answer any three from 1 to 4 . Each carries 1 score.
1. The intersection of rows and columns in a worksheet are called
a) Column Db)Cell c)Row d)Work book
2. Which function is used to calculate EMI of a loan
a) PMT  b)FVc)PV d) ACCRINT
3.Name the chart which have no axes

a) Line Chart b) Column Chart c) Pie Chart d) Bar Chart



4. Give the function key for payment VVoucher

a) F5 b) F7 c¢) F8 d) Ctrl+I
I1.Answer any three from 5 to 8 . Each carries 2 scores.
5. Explain relative cell reference and absolute cell reference
6. Write any two features of Libre Office Calc
7.Name any four elements of chart
8. What is a data base
I11.Answer any two from 9 to 11 . Each carries 3 scores.
9. Write any three advantages of computerised Accounting
10. Write any three statistical functions and its syntax
11. Describe various components of salary and deductions in relation to payroll accounting.
IVV.Answer the following question. 5 scores.

12. Write the procedure for recording transactions of ABC Ltd. With the help of accounting
software GnuKhata

1/1/2021 Started business with cash 1,00,000
2/01/2021 Deposited in to SBI 40,000
4/1/2021 Purchased goods from Arun 25,000
6/01/2021 Sold goods for 4000
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a. line chart b. column chart c.pie chart d.bar chart
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a.F5,b.F7,c.F8,d.ctrl+5
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